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�d\_c�]l�_a\_Y\�k�f[Z[c�u_Z_\aj_v_�WX_f[aaV�a�x_x[\eV�

[v_� a_ldV\]^� ^YZ^[ea^� `_Xx]X_YV\][� [YX_W[caj_v_�

WX_aeXV\aeYV� Y�as[v_� _{XVl_YV\]^)� WX[dgaxVeX]YVh�[[�

a{Z]r[\][)� vVXx_\]lVf]h� ]� W_aZ[d_YVe[Zb\_aeb� a]ae[x�

Y�as[v_�_{XVl_YV\]^�Y��YX_W[��

u_Z_\ajV^�d[jZVXVf]^)�V�eVjr[�X^d�]\�k�x[rdg\VX_d\�k�

d_jgx[\e_Y)�WX]\^e�k�Y�[[�XVlY]e][)�gaeV\VYZ]YVhe�_a\_Y\�[�

WX]\f]W��`_Xx]X_YV\]^�_{�[[YX_W[caj_v_�_{XVl_YVe[Zb\_v_�

WX_aeXV\aeYV)� aX[d]� j_e_X�kC� W_Y�s[\][� VjVd[x]i[aj_c�

x_{]Zb\_ae]� aegd[\e_Y)� WX[W_dVYVe[Z[c� ]� Vdx]\]aeXVe]Y\_/

gWXVYZ[\i[aj_v_� W[Xa_\VZV�� W[X[k_d� j� _{�[[YX_W[caj_xg�

_{XVl_YVe[Zb\_xg� ]� ]aaZ[d_YVe[Zbaj_xg� WX_aeXV\aeYg)�

Vje]Y]lVf]^�giVae]^�Ygl_Y�]�aegd[\e_Y�Y�XVlY]e]]�u_Z_\aj_v_�

WX_f[aaV��

�W_x^\geV^� Y�s[� VjVd[x]i[ajV^� x_{]Zb\_aeb�

WX[dgaxVeX]YV[e� _{x[\� _{giVh�]x]a^)� W[dVv_v]i[aj]x]�

XV{_e\]jVx]� Y�as]k� gi[{\�k� lVY[d[\]c� [YX_W[caj]k�

v_agdVXaeY� Y� f[Z^k� _{gi[\]^)� W_Y�s[\]^� jYVZ]`]jVf]])�

a_Y[Xs[\aeY_YV\]^� W[dVv_v]i[aj_c� d[^e[Zb\_ae]�� �{x[\�

d_ae]vV[ea^� W_aX[daeY_x� X[VZ]lVf]]� x[rdg\VX_d\�k�

WX_vXVxx�]�d_v_Y_X_Y��
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¦� ¼e]k� gaZ_Y]^k)� Y�a_j_� _f[\]YV^� u_Z_\aj]c� WX_f[aa� ]�

W_\]xV^� l\Vi]x_aeb� [YX_W[caj_v_� WX_aeXV\aeYV� Y�as[v_�

_{XVl_YV\]^)� Xgj_Y_daeY_� U[v_agdVXaeY[\\_c� ¦�as[c�

t[dVv_v]i[aj_c� Âj_Z�� Gv�� u[Z_ae_j)� t_ZbsVH� ]� uX[aeaj_v_�

§_agdVXaeY[\\_v_��\]Y[Xa]e[eV�]x[\]�y�z��tgsj]\V�Gv��uX[ae)�

u[ZVXgabH�Y�Z]f[�X[je_X_Y�WX_`[aa_XV�U¦tÂ�q��Îa]\aj_v_�]�

WX_`[aa_XV�y�U��z[\d[X�W_dW]aVZ]�Y�xVXe[�=ID?�v_dV�À_v_Y_X�

_�x[rdg\VX_d\_x� a_eXgd\]i[aeY[��tX]l\VYV^� VjegVZb\_aeb� ]�

YVr\_aeb� a_eXgd\]i[aeYV� Y� aY[e[� WX_f[aa_Y� ]\e[vXVf]]�

[YX_W[caj_c)� Y� f[Z^k� XVlY]e]^� a_eXgd\]i[aeYV� Y� _{ZVae]�

\Vgj]� ]� W_dv_e_Yj]� aW[f]VZ]ae_Y� ¦���/WVXe\ÏX��

d_v_Y_X]Z]ab�_�\]r[aZ[dgh�[xC�

− 5�H=@� ;=L=TAU:�H:C� _`]f]VZb\�[� d[Z[vVf]]� ¦��_Y/

WVXe\ÏX_Y�YaeX[iVhea^�_d]\�XVl�Y�e[i[\][�gi[{\_v_�v_dV�dZ^�

j__Xd]\Vf]]�d[caeY]c�Y�_{ZVae]�a_eXgd\]i[aeYV)�_{agrd[\]^�

Y_l\]jVh�]k� WX_{Z[x�� ze_X_\�� WX]vZVsVhe� WX[daeVY]e[Z[c�

¦��_Y/WVXe\ÏX_Y�\V�h{]Z[c\�[�]�WXVld\]i\�[�x[X_WX]^e]^��

− 5�H=@� @AB<@5XC=;AT5T:<=>6:H:� 8A�57@:6AH:C� a� f[Zbh�

a_Y[Xs[\aeY_YV\]^� W_dv_e_Yj]� aW[f]VZ]ae_Y� a� Y�as]x�

_{XVl_YV\][x)�_{x[\V�_W�e_x�_XvV\]lVf]]�gi[{\_v_�WX_f[aaV�

¦��_Y/WVXe\ÏX_Y)� ae_X_\�� WX_]lY_d^e� _{x[\�

WX[W_dVYVe[Z^x]��

− @AB<@5=� :� B<=�@5XH=75;:<=>65=� >578B;@:<=>7I5C�

ae_X_\��]\`_Xx]Xghe�dXgv�dXgvV�_�\Vgi\�k�j_\`[X[\f]^k�]�

a]xW_l]gxVk)� YjZhiV^� aegd[\i[aj][)� \Vgi\_/x[e_d]i[aj]k�

a[x]\VXVk)� lVWZV\]X_YV\\�k� \V� VjVd[x]i[aj]c� ]Z]�

jVZ[\dVX\�c� v_d)�WZV\]Xghe�]�WX_Y_d^e� a_Yx[ae\�[�\Vgi\_/

]aaZ[d_YVe[Zbaj][� x[X_WX]^e]^� ]� a_d[caeYghe� giVae]h�

\Vgi\_/W[dVv_v]i[aj]k� XV{_e\]j_Y� Y� ¼e]k� x[X_WX]^e]^k)� V�

eVjr[� _ag�[aeYZ^he�Wg{Z]jVf]]� X[lgZbeVe_Y� ]aaZ[d_YV\]c� Y�

aY_]k� ]ldVe[ZbaeYVk� \V� ]d[\e]i\�k� gaZ_Y]^k�� ze_X_\��

W_dd[Xr]YVhe� _{x[\� \Vgi\_c� ]� gi[{\_/x[e_d]i[aj_c�

Z]e[XVegX_c� ]� d_jgx[\eVf][c)� ]ldVYV[x_c� Y� ¦��Vk/

WVXe\ÏXVk��

UVgi\�[�]aaZ[d_YV\]^�Y�_{ZVae]�W[dVv_v]j]�]�Wa]k_Z_v]]�

X[VZ]l_Y�YVZ]ab�Y�=ID?�v_dg�Y�aZ[dgh�]k�\VWXVYZ[\]^kC�

D� yjegVZb\�[� WX_{Z[x�� XVlY]e]^� ]� Y_aW]eV\]^� d[e[c� ]�

x_Z_d[r]��
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=� �{XVl_YVe[Zb\�[�a]ae[x��Y�aXVY\[\]]��

>� ta]k_Z_v]i[aj][� VaW[je�� _e\_s[\]^� j� \Vf]_\VZb\�x�

Ga_f]VZb\�xH�x[\bs]\aeYVx��

A� ta]k_a_f]VZb\V^�_{gaZ_YZ[\\_aeb�WX[dg{[rd[\]c��

tX_vXVxxV� a_eXgd\]i[aeYV� \V� =IDB� v_d� YjZhiV[e� eVjr[�

XV{_eg�W_�\_Y�x�e[xVx�\Vgi\�k�]aaZ[d_YV\]c��¾e_�]lgi[\][�

_W�eV� XV{_e�� jV`[dX�� W[dVv_v]j]� a_f]VZb\_c� ]� \ViVZb\_v_�

_{XVl_YV\]^� uX§�� ]x[\]� y�z�� tgsj]\V� W_� e[x[�

¢¾j_\_x]i[aj_[� _{XVl_YV\][� xZVds]k�sj_Zb\]j_Y£)� V� eVjr[�

_XvV\]lVf]^� a_Yx[ae\�k� \Vgi\�k� ]aaZ[d_YV\]c� W_�

\VWXVYZ[\]^xC� ¢�_xW[e[\f]]� WX[W_dVYVe[Z[c� Y�as[c)�

aX[d\[c� ]� \ViVZb\_c� sj_Z�� jVj� ¼Z[x[\e� jVi[aeYV�

_{XVl_YV\]^£�]�¢wlgi[\][�aVx__f[\j]�xZVds]k�sj_Zb\]j_Y£��

tX[eY_X^^� Y� r]l\b� W_dW]aV\\�[� d_v_Y_X[\\_ae])�

WX[W_dVYVe[Z]� _{_]k� ¦��_Y/WVXe\[X_Y� Vje]Y\_� giVaeYghe� Y�

_ag�[aeYZ[\]]� \Vgi\�k� WX_[je_Y)� d[Z^ea^� aY_]x]�

]aaZ[d_YV\]^x]� ]� ]k� X[lgZbeVeVx]� a� \Vgi\_c�

_{�[aeY[\\_aebh� \V� \Vgi\�k� x[X_WX]^e]^k� XVlZ]i\_v_�

gX_Y\^� p� j_\`[X[\f]^k)� a[x]\VXVk)� a]xW_l]gxVk)� Wg{Z]jghe�

xVe[X]VZ�� _� \Vgi\�k� ]aaZ[d_YV\]^k� Y� \Vgi\�k� a{_X\]jVk� ]�

xVe[X]VZVk� j_\`[X[\f]c�� z_eXgd\]i[aeY_� Y� gjVlV\\�k�

\VWXVYZ[\]^k� ^YZ^[ea^� d_Y_Zb\_� WZ_d_eY_X\�x�� ¦� e[i[\][�

=ID?/=IDB� v_d_Y� \VW]aV\_� {_Z[[� AI� \Vgi\�k� aeVe[c)� jVj�

_ed[Zb\�k�VYe_X_Y)�eVj�]�Y�a_VYe_XaeY[��tX[daeVY]e[Z]�U¦tÂ�

]� uX§�� ]x[\]� y�� z�� tgsj]\V� WX]\^Z]� giVae][� Y� d[Y^e]�

\Vgi\�k� j_\`[X[\f]^k)� WX_Y_d]x�k� jVj� \V� e[XX]e_X]]�

t_Zbs])� eVj� ]� u[ZVXga]�� §[_vXV`]^� \Vgi\�k� Wg{Z]jVf]c�

YjZhiV[e� \[� e_Zbj_� v_X_dV� uX[ae� ]� u[Z_ae_j)� \_� eVjr[� ]�

q]\aj)�uVXV\_Y]i])�§dV\baj)�¦VX\V�Gu_ZvVX]^H��

�__Xd]\Ve_XVx]�WX_vXVxx��a_eXgd\]i[aeYV�^YZ^hea^C�a_�

ae_X_\��U¦tÂ�d[jV\�`VjgZbe[eV�a_f]VZb\�k�\Vgj�d_je_X�y��

Îf[Y]i)� a_� ae_X_\�� uX§�� ]x[\]� y�z�� tgsj]\V� d_f[\e�  �z��

�\]aj[Y]i�� ¦� X[VZ]lVf]]� d_v_Y_X[\\_ae[c� WX]\]xVhe�

Vje]Y\_[� giVae][� \[� e_Zbj_� j__Xd]\Ve_X�� WX_[jeV)� \_� ]�

d[jV\�� `VjgZbe[e_Y� p� Wa]k_Z_v_/W[dVv_v]i[aj_v_� `VjgZbe[eV�

uX§�� ]x[\]� y�z�� tgsj]\V� jV\d�`]Z�� \Vgj)� d_f[\e� �_f[Y]i�

z�z�)�`VjgZbe[eV�a_f]VZb\�k�\Vgj�U¦tÂ�Y�u[Z_ae_j[�d_je_X�

a_f]VZb\�k� \Vgj� y�� Îf[Y]i)� V� eVjr[� jV`[dX��� z_� ae_X_\��
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uX§�� ]x[\]� y�z�� tgsj]\V� ¼e_� jV`[dXV� W[dVv_v]j]�

a_f]VZb\_c� ]� \ViVZb\_v_� _{XVl_YV\]^� GlVY�� jV`[dX_c�

qVe�f�\V� w�§�H)� jV`[dXV� Wa]k_Z_v]]� GlVY�� jV`[dX_c�

q[dY[dajV^� ��wH)� a_� ae_X_\�� U¦tÂ� Y� u[Z_ae_j[� p� jV`[dXV�

W[dVv_v]j]� GlVY�� jV`[dX_c� d_je_X� kV{]Z]e_YV\�� WX_`[aa_X�

U¦tÂ� y�� t_WZVYajV^H)� jV`[dXV� Wa]kZ_Zv]]� GlVY�� jV`[dX_c�

d_je_X�y��wZ[\d_/q]Z[YajV^H��

�

��.���� 2A� UV� j_\`[X[\f]]� Y� U[v_agdVXaeY[\\_c� ¦�as[c�

t[dVv_v]i[aj_c�Âj_Z[�GxVc�=ID?�v�H�

�

�
�

t[XaW[je]Y�� x[rdg\VX_d\_v_� a_eXgd\]i[aeYV�

WX[dW_ZVvVhe�Y� {gdg�[x� aeVr]X_Yj]�WX[W_dVYVe[Z[c�¦��_Y/

WVXe\[X_Y)� V� eVjr[� _{x[\� aegd[\eVx]� Y� _{XVl_YVe[Zb\_c� ]�

jgZbegX\_c�a`[XVk��

¦�\Vae_^�[[�YX[x^�f[Zb�u_Z_\aj_v_�WX_f[aaV�lVjZhiV[ea^�

Y�dVZb\[cs[x�a_Y[Xs[\aeY_YV\]]�[YX_W[caj_v_�WX_aeXV\aeYV�

Y�as[v_� _{XVl_YV\]^� dZ^� W_Y�s[\]^� WX]YZ[jVe[Zb\_ae]� ]�

j_\jgX[\e_aW_a_{\_ae]� [YX_W[caj_v_� _{XVl_YV\]^� Y�

a_YX[x[\\_x� x]X[�� q[rdg\VX_d\_[� a_eXgd\]i[aeY_� x[rdg�

U[v_agdVXaeY[\\_c� ¦�as[c� t[dVv_v]i[aj_c� Âj_Z_c� Y�

u[Z_ae_j[� ]� uX[aeaj]x� §_agdVXaeY[\\�x� �\]Y[Xa]e[e_x�
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]x[\]� y�z�� tgsj]\V� Y\_a]e� aY_c� YjZVd� Y� ¼e]� YVr\�[�

[YX_W[caj][�WX_f[aa���

�

��.���� )A� �_\`[X[\f]]� Y� uX[aeaj_x� §_agdVXaeY[\\_x�

�\]Y[Xa]e[e[� ]x[\]� y�z�� tgsj]\V� GxVc� =ID?� v�� ]�

\_^{Xb�=ID?�v�H�

�

�
�

�
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� !��#����+J-������ %J-�
��� �����%�3��$ ��)��!�#�# ����

, ���6�-����$�)�, �����-��� �$ �����6 ,��$ �����������	���%�$�/

�-��5�0�� ��)���6 -�$�,E� ������- �� ��,;)����#��$���,;�$��6J,/

��KL����� #J-�����%�$��-��-�0�� ���-�����6$ ��

� �%����,�� ��%�3���)� �� ���0 � �� � �� $������ !���# ��J-�

#$;!������!�-���)�6���,;�����-�� %�� , ,� ���-�,�)�����%�,E�6�!/

���-�- � ����!�� -�6J%� ,�  ���6 ,��$ ,� 6�� ���� �$�  !�����,� ,)�

-���#C��-$;��� �$ �#��$%��K�$����! #$��$ ,����! ��J-)�������/

�$ %$�$�6����-�$�J-��!#$�$������,������6�� ,K�$ �!��-�6J%� ,� �/

��6 ,��$ ,� 6�� ���� �$�  !�����,� ,� $� ��!�-�� ,)� $�� ���.$���,;�

�!�$�+�� ��$- ���� �J-� $� ���! ��J-� -� ���-�,�� 
��� ��� ��%�3/

��$ ����

*��$%��KL����! #$����6�� -$!�, �-�#$��;����! ��J-)�6��/

��-�$�J-� !�!����������� -�0������ $�������,$�  !�����,�����

6�3��-� ���6 ,��$���-�� %������% �$�)����-�,����-�!�- ��)�!��/

����% �$�� !�$�+�3�  !�����,������ 5�#$���� �!��-�� �$;� 6�6�� ��

� �%$���,;�6�����#J-�$��#J-�#$;!������!�-�����

��� �$�,E��
��� ����%�3��$�$������ �$ � ���6 ,��$ ��������/

��� ����%�$��-��-�0�� ��)�-+�!� ��$ 6�3��-�- ,�5�0�� ,� 	���+��


 !����$��� ,�-��$�+�#�������������� ��$ ���
�3��-�- ���7�$/
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- ���� ��� $#$ �$�� ��	�� 
����$��� G��� KL)� �$�+���KH)� -� ��������

� ����J-C� !���*�� ���$3��$ ��)� 6��.���5	
� $� 6��.�� ��� ��� 	 �! �)�

6�!6$��+��-�#�����=ID?�������#�-;���-�6J+6�����#$;!������/

!�- ,��7���,E�������%��KL�$�-�0��KL�-�6J+!�$�+��$��-������6��/

� �J-�$�� ����,$� ���6 ,��$ ,)�-�� %�����-$,��$��-�6J+6�����-���/

�� �$ � ����$� $� �����+� �$�� �6 �,�%$��J-� 	������ ����!�$+�� ����;/

6�,E� ��6������-�#$����!�K-$�!�� 3C�

− �'"�����������
0����.$�,�%�$�! % ���$�7�� %�$�6���� ���$���

�6�����,E��$;�, ! ������-���������! #$��$#�-�� %������!����,$�

!�$�+�3�-����� �$ �-�6J+6����)������!%���#J-$ �$��6�,�-$�,E�����

�$;� 6���% #J-�� 	������ ��6�����,E� 6�� !���-$�$ %$� 7�� %�$� 6���/

� ���$������,��$% ��� �$����������K�$)�

− �'"�����
��
�����\��������'
�����'����'
��'
�������/

���-�� %��!������% �$�������+� �$���6 �,�%$��J-���-�0���#�-�/

�����+� �$ #������-�#$����!�K-$�!�� 3�-�!�$ !�$�$ ������$���,$�

6��� ���!�!������� ���7�� %�$�6���� ���$������

− ��
\�
��
�� �������� �� �'����'
���X"����'
����� �������

$�.��#�,E� �$;� -��, #�$ � �� ��6%���-������ ��� !���� ���� ���! /

#$��$�%�����% �!����-�����. � ��,����$���#6��,���)�-���#����/
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